Differentiability







\Jertion Tanveeit

,G/){)': 3\j_>-<_

f\'[x\-: lg
O

See {.(0\:3 3

£ M'\‘&%



C (=L (5 —= £

¢ - A=t Y

\/ “ ot AL
ok =,




Covtinury lssies
2F
[ 1 -G/x)$ <L¢D_ /

X = a

e




E.(N-S lout £L.0)-0 — §(NY

- L gt Efakx=\.




3
A #d X2

‘F/‘ﬂ: E,{’Lu{ X222

Cont Bl afx=>
(=0

A->1

hm"{-/x\‘:
X=2t O ?S_-_ Ilm.{/,,y%

- =7
A=>2
S/hQ [;$€Q{¥ € (S M+CO"} a.j‘)(‘?-l

o L syt atx=2.



Q/ﬂ:? SUKM

7 X X2

(ort Gt et x= |
)= 2.

g e
%.’, “W\ VA-L

/
e g2 ) X

XY=

£ 15 contat x=1

D erin
TN T
Sinee £, (1) -3 and
e (N->—=K (=2

ang § (s contcd
x=|

2 Qs ek ab iz |




T = S =S
F/ﬂ-,g x" ~Lexe3 w24 G

X33 2 — A1

S xXe-u

Q /g\ E 2K —2&xe?d

2yt x>3

{ (L\-—q M‘& (—‘L\"aﬂ—»{(z\:g

'Q not At ak-x=-2

(e et s b= £V
.y -C N&’ c&\.g-'\- G}x:-%.




XXz

%{1):5 ‘C\nl a %p thd ’F
ax+1 271 s s ¥ x.

{,/)(]1 29:1 xel

X |

Q;(l\’- a and '(L(l)“l

. a=2.




/4
(0 iy Ed stk £

arlil X>)

Cort GA wt 2=
£ =1

lime /-
X=)* =t

I e | £ie(N=a anafl():2

M=)~ o Q"_'l

oSoe & b b 44E ¥
G= 2 an} b=-1.




